
## Item # Correct Answer
Primary
SE

Secondary
SE

Obj/Cat

1 C06019577CS C 6.11(A) None None

2 C061154271D F 6.11(A) 6.2(D) None

3 C063218570 D 6.11(A) None None

4 C061071350RX F 6.11(A) None None

5 C061137954D D 6.11(C) None None

6 C061099795D H 6.11(B) [S] None STAAR: SC3

7 C063218568 C 6.11(A) None None

8 C061099981D F 6.11(C) None None

9 C06019579CS B 6.11(A) None None

10 C06019581CS F, J, L 6.11(A) None None

11 C061100883D C 6.11(A) 6.2(C) None

12 C063272205 0 to 2 6.11(A) None None

Test Key

CISD Grade 6 Science Unit 08



12 Rubric:

 

2 The student response indicates an understanding of the relationship between distance
from the Sun and planetary temperature; AND identifies Uranus as the coldest because
it is farthest from the Sun.

1 The student only identifies Uranus with no explanation.

0 No correct response is given.

Scoring Rubrics


